Date Name w

Checking 3 by 2 Digit Subtraction with Addition - No Exchanging

LO: to check by using inverse

Calculate the answer to the following subtraction calculations and check by using addition:

1 367 2 478
- 15 - - 32 -
El 269 558
- 31 - - 27 -
5] 194 6 375
- 50 4 - 31 -+
763 B 888
- 40 + - 74 +
9 69 10 967
- 34 + - 32 +
Challenge
Complete the following calculations and check:
46 8 7
- 3 + - 4 +
24 53
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Date Name @

Checking 3 by 2 Digit Subtraction with Addition - No Exchanging

LO: to check by using inverse

Calculate the answer to the following subtraction calculations and check by using addition:

1 367 352 |3 478 446
- 15 + 15 - 32 + 32
352 367 446 478
B 269 238 558 531
- 31 + 31 - 27 + 27
238 269 531 558
E 194 144 n 375 344
- 50 + 50 - 31 + 31
144 194 344 375
763 723 B 888 814
- 40 + 40 - 74 + 74
723 763 814 888
n 694 660 m Q67 Q35
- 34 + 34 - 32 + 32
660 694 Q35 Q67
Challenge
Complete the following calculations and check:
467 424 897 853
- 43 + 43 - 44 + 44
- 424 - 467 ~ 853 - 897
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